
Sin, Cos and Tan Graphs
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1 Sketch the graph of 𝑦 = sin(𝑥) on the axes below for the region −360 ≤ 𝑥 ≤ 360.

[2 marks]

2 Sketch the graph of 𝑦 = cos(𝑥) on the axes below for the region −360 ≤ 𝑥 ≤ 360.

[2 marks]

Turn over for next question

Turn over ►
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3 Sketch the graph of 𝑦 = tan(𝑥) on the axes below for the domain −360 ≤ 𝑥 ≤ 360

[2 marks]

Turn over ►
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4 The graph of 𝑦 = cos(𝑥) for −180 ≤ 𝑥 ≤ 180 has been drawn on the axes below.

Using the graph, find the solutions to the following equations.

4(a) cos(𝑥) = 0

[1 mark]

Answer

4(b)
cos(𝑥) =

1

2

[1 mark]

Answer

4(c) Explain why there are no solutions to the equation cos(𝑥) = 2.

[1 mark]

Turn over ►
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5 For the following graphs, circle the correct function corresponding to the graph shown.

5(a)

[1 mark]

cosine tangent

sine none of the above

5(b)

[1 mark]

cosine tangent

sine none of the above

5(c)

[1 mark]

cosine tangent

sine none of the above

Turn over for next question

Turn over ►
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5(d)

[1 mark]

cosine tangent

sine none of the above

5(e)

[1 mark]

cosine tangent

sine none of the above

5(f)

[1 mark]

cosine tangent

sine none of the above

Turn over ►
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6 Sketch the graphs of 𝑦 = sin(𝑥) and 𝑦 = 2sin(𝑥) for −180 ≤ 𝑥 ≤ 180 on the axes 

below, making sure to label any points of intersection with the axes.

[3 marks]

Turn over ►
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7 By use of a sketch, find any solutions to the equation sin(𝑥) = cos(𝑥) for 

−180 ≤ 𝑥 ≤ 180.

[3 marks]

END
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